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(b) Using Cramer’s rule, find the solution of the system of equations 2y — z = 0,
andx+3y=-4,3x+4y=4
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Which of the matrix has no inverse ?
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(c) Find the characteristic equation and characteristic roots value for the matrix
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IfA= [1 2] and B = [2 O] then verify that (A + B)T = AT+ BT
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uviaicn e 1ouowing)
. P
2. (@) (A) Equation ofa straight line passing through a given point (x, y) and having
slope m is _—~ T
(B) unatlon of a straight line passing through two points (x,, y,) and (x,, y,)
(C) The equation of a straight line whose x and y-intercepts are a, b
respectively is
(D) Iftwo lines are perpendicular then product of their slopes is equal to

P~ DN
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~r

P
(A) Iftwo lines with slopes m, and m, are parallel then ‘0’ is v

(B)  Equation of a straight line whose slope is m and y intercept is (o~
(C) Slope of line ax + by + ¢ =0 L~
(D) Slope of a line joining two points (x,y,) and (x, y,).

Q
(1) y=mx+c
(2) 0 /(zero)
Yo=Y
@ Sy
@ -
Answers :
P Q
A | 2 -/)
B ]
C | 4
D g
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«

@ Find the equation to the perpendicular to the line 6x — 5y — 2 = 0 and passing
through (2, -3). 6

—Sn- 6*3 R (5—‘)&* Gz} -\'Q:QJ
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\/ UK \/
Are the lines 4x + 6y + 7 =0 and 2x + 3y — 1 = 0 parallel to each o‘ther -

=)
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A RAW MAAW AARAWNY T » VJ v r W ORAE AW AW v .’J - r‘——
(¢) Find the equation of straight line parallel to 5x + 6y - 10 0 and passmg
through the point (-3, 3).
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\ At the lines 3x +4y +7=0 anc-l 28x - 21y + 50 = 0 are perpendicular to each
other ? Justify.
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Find the angle between the lines x + 3y + 5=0and 4x +2y-7=0 >
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Find the equation of straight line which passes through the points (-2, 3) and
(_5 6) —

(7\( \5\) - C'-Z' 17
(v\;\ Y2) = - <
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(& (5a9)= G (360 +2.40)
= CR 210
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i di d“—1t dian into degree
Convert 45 degree into radian and —5— radian into degree.

Q
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ethat(1+tanA)(1+tanB)=2

————

A+ R=A
Pay

f‘«(/ﬁp—:— %mg

=P & %cq&ﬁ -

S - X

Yo+ Y & — | — 4&.A Yon n
odde 1 el

(4 Jeub+ degz 2 - %‘;{5&"‘&

21|Pag€w\ ubs&ribe . rayirnandi
| € Aot £ %GM& - o =>C\+%&Aﬁ+.\a® =2




Problem - Ravi R Nandi Engg Maths - 20SCO1T - U 3 - Trigonometry

Prove that sin 3A = 3sin A —4 sin® A
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cos(360° — A) * tan(360° + A)
cot(270° - A) - sin(90° + A)

Show that : =]

Livg = @C20-m) Yo (360 +)
®Ee"<?—70 - A

§in (39 +A)
S

(ﬁ% méom:,)
('k—-ég,‘/a‘ ('+C_;£+§) = \
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Prove thaf cos 55° + cos 65°H cos 175°=0
= |

= aCI7) £ CACS +Ga sy

= A I 4 o GrEox Cas™
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sin 40° +sin 205~ 1
cos 40° + cos 2 \ﬁ
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d
Ify=sinx+logx+e*+tanx, thcnﬁndaf=?

\
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dy _ d%y
Ifdx—4x3+3x2, then find ;5 at (1, 2)

j\: \'L‘)&L-*— N
\\

3 - 2Un ¢

S’C = 204+ ¢ = 30/
(lZ)
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UL 1090

Using chain rule of differentiation, find the derivative of the function
y=@3x+8)° 6
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UK
Using composite rule find the derivative of the function y = log (sin (log x))
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- wm mmew asesawsavaz )y AVE \Tia \AvE V)

The distance covered by a body in t  seconds is given by S = 4t — 5t2 + 2t3, find

\
the velocity and acceleration when t = 2 sec. — 5
nNoD

\
S = Z—\——\Q'&. —f'é éAL

(

4= 0@ €EY: forofais @

a=- S = O—fOG)—\-\L‘t: —(o + 12t

X =2 —(o4 12(2) It P
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v

Distance travelled by a car is given by S = 160t — 16t metre and time in
seconds. When does the car stop ?

-SI = (GQC() — ?3'2_'%

= \/:Q, Car %—P

> 22+1t= |co
—é: (Co = S‘

32

~

32| Page Subscribe ravirnandi



Problem - Ravi R Nandi Engg Maths - 20SCO1T - U 3 - Trigonometry

Find the maximum and minimum values of the function x> — x2 — x = 0.

OR i
~ >
2 J = Ko »
\ . J
J= W 2m—) 3= e-2

y! =& 20
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AT 2 AN

Find the equation of the tangent to the curve y =2 — 3x + x2 at (1, 2)

8‘: e~ > T 2

M = =34+2Q0)
| —3Xx 53 = —\ &
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\\)3 = M ("\\—-X\D

4—2 = "\(7«~\)
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UK
Find the equation of the tangent to the curve y=2-3x+x%at(l,2)
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(a) Integrate : 04 x+ e‘/ + ch/+ xz‘{r to x.
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D -

e area under
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curve y = x% between x = 1, and x = 2 is equal to ...
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Using the rule of integration by parts evaluate the integral Ixsin 2x.dx TL PTTG—
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Evaluate I sin 2x cos 3x dx
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The area enclosed by the curve y = x* + 1, x-axis between x = 1, x = 3,
calculate the area enclosed. :

A= Sgcﬁ«

\g(ﬁ%*\)cﬂm Q’“ —\-’K)
= G- ()

= -é67”‘) 4 L
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FAN

Find the volume generated by rotating the curve y = \/x + 2 about x-axis
between x = 0 and x = 2. E
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